
N = 1501
1501 circles in a circle

radius =   0.024133032205
ratio  =  41.436981126101

density  = 0.874187268365
contacts = 3821

 E.SPECHT
21-APR-2014

N = 1502
1502 circles in a circle

radius =   0.024125180456
ratio  =  41.450467150252

density  = 0.874200546742
contacts = 3023

 E.SPECHT
21-APR-2014

N = 1503
1503 circles in a circle

radius =   0.024124742895
ratio  =  41.451218956241

density  = 0.874750839278
contacts = 3796

 E.SPECHT
21-APR-2014

N = 1504
1504 circles in a circle

radius =   0.024122617343
ratio  =  41.454871409289

density  = 0.875178603868
contacts = 3704

 E.SPECHT
21-APR-2014

N = 1505
1505 circles in a circle

radius =   0.024111073088
ratio  =  41.474719782842

density  = 0.874922487430
contacts = 3779

 E.SPECHT
21-APR-2014

N = 1506
1506 circles in a circle

radius =   0.024105555528
ratio  =  41.484212999739

density  = 0.875103177813
contacts = 3659

 E.SPECHT
21-APR-2014

N = 1507
1507 circles in a circle

radius =   0.024102319329
ratio  =  41.489783051891

density  = 0.875449148122
contacts = 3863

 E.SPECHT
10-JUN-2014

N = 1508
1508 circles in a circle

radius =   0.024078027912
ratio  =  41.531640533859

density  = 0.874265153612
contacts = 3784

 E.SPECHT
21-APR-2014

N = 1509
1509 circles in a circle

radius =   0.024064913933
ratio  =  41.554272862738

density  = 0.873892204665
contacts = 3784

 E.SPECHT
21-APR-2014

N = 1510
1510 circles in a circle

radius =   0.024046725098
ratio  =  41.585704328543

density  = 0.873149931796
contacts = 3662

 E.SPECHT
21-APR-2014

N = 1511
1511 circles in a circle

radius =   0.024032258841
ratio  =  41.610736911181

density  = 0.872677241591
contacts = 3778

 E.SPECHT
21-APR-2014

N = 1512
1512 circles in a circle

radius =   0.024031258490
ratio  =  41.612469043423

density  = 0.873182093553
contacts = 3769

 E.SPECHT
21-APR-2014


